GOVERNMENT OF THE DISTRICT OF COLUMBIA DEPARTMENT ON DISABILITY SERVICES

PCR Results Web Posting

Provider	Creative Options for Employment						
Organization							
Contact Person(s)	Alana Powell						
Phone Number	01-779-3890 x202						
Email Address(s)	a.powell@coejobs.org						
Provider Services Reviewed	Day Habilitation, Prevocational Habilitation, Supportive Employment Intake and Assessment, Supportive Employment Job Placement,						
	Supportive Employment Job Training and Support, Supportive Employment Long-Term Follow-Along, Day Habilitation One-to-One,						
Location(s) Reviewed	1441 McCormick Dr., Largo, MD 20774 1441 MCCORMICK DR, largo, MD 20774						
# Individuals Reviewed by Service	Day Habilitation - 3 Prevocational Habilitation - 4 Supportive Employment Intake and Assessment - 1 Supportive Employment Job Placement - 1 Supportive Employment Job Training and Support - 2 Supportive Employment Long-Term Follow-Along - 1 Day Habilitation One-to-One - 1						
Annual PCR dates	10/15/2012 - 10/17/2012						
F/U Review Date(s)	12/11/2012						
Annual Report Date	10/31/2012						
F/U Report Date	12/17/2012						
1							

The overall results on initial review were:

Service	Person	%	Organization %	Rating	Satisfaction %
	Centered		Score		Score
	Domains				

	Score						
	# Yes/Total		# Yes/Total			# Yes/Total	
Day Habilitation	123/124	99%	25/31	81%	Needs Improvement	30/30	100%
All Mandatory Indicators	29/30	97%	10/13	77%			
Prevocational Habilitation	153/158	97%	25/31	81%	Needs Improvement	36/37	97%
All Mandatory Indicators	33/35	94%	10/13	77%			
Supportive Employment Intake and Assessment	12/13	92%	25/31	81%	Needs Improvement	/	0%
All Mandatory Indicators	3/3	100%	10/13	77%			
Supportive Employment Job Placement	44/46	96%	25/31	81%	Needs Improvement	10/10	100%
All Mandatory Indicators	8/9	89%	10/13	77%			
Supportive Employment Job Training and Support	83/85	98%	25/31	81%	Needs Improvement	20/20	100%
All Mandatory Indicators	18/18	100%	10/13	77%			
Supportive Employment Long- Term Follow-Along	26/29	90%	25/31	81%	Needs Improvement	10/10	100%
All Mandatory Indicators	5/7	71%	10/13	77%			
Day Habilitation One-to-One	42/43	98%	25/31	81%	Needs Improvement	10/10	100%
All Mandatory Indicators	8/9	89%	10/13	77%			

The overall results on follow up review were:

Service	Person Centered Domains Score	Organization Score	%	Rating	Satisfaction Score	%
	# Yes/Total	# Yes/Total			# Yes/Total	

Day Habilitation	124/124	100%	31/31	100%	Satisfactory	30/30	100%
All Mandatory Indicators	30/30	100%	13/13	100%			
Prevocational Habilitation	158/158	100%	31/31	100%	Satisfactory	36/37	97%
All Mandatory Indicators	35/35	100%	13/13	100%			
Supportive Employment Intake and Assessment	13/13	100%	31/31	100%	Satisfactory	/	0%
All Mandatory Indicators	3/3	100%	13/13	100%			
Supportive Employment Job Placement	46/46	100%	31/31	100%	Satisfactory	10/10	100%
All Mandatory Indicators	9/9	100%	13/13	100%			
Supportive Employment Job Training and Support	85/85	100%	31/31	100%	Satisfactory	20/20	100%
All Mandatory Indicators	18/18	100%	13/13	100%			
Supportive Employment Long- Term Follow-Along	29/29	100%	31/31	100%	Satisfactory	10/10	100%
All Mandatory Indicators	7/7	100%	13/13	100%			
Day Habilitation One- to-One	43/43	100%	31/31	100%	Satisfactory	10/10	100%
All Mandatory Indicators	9/9	100%	13/13	100%			

Certification issued/dates/services

Waiver Service	Certification Dates	Certification Type
Day Habilitation	10/15/2012 -	6 Month
	04/15/2013	Provisional
Prevocational Habilitation	10/15/2012 -	6 Month
	04/15/2013	Provisional
Supportive Employment Intake and	10/15/2012 -	6 Month
Assessment	04/15/2013	Provisional
Supportive Employment Job Placement	10/15/2012 -	6 Month
	04/15/2013	Provisional

Supportive Employment Job Training and Support	10/15/2012 - 04/15/2013	6 Month Provisional
Supportive Employment Long-Term Follow-Along	10/15/2012 - 04/15/2013	6 Month Provisional
Day Habilitation One-to-One	10/15/2012 - 04/15/2013	6 Month Provisional